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Answers to Quiz #4
Please write legibly and neatly in answering this quiz. Remember that we reserve the right to count an answer as wrong if we cannot read it. 

1. A perfectly competitive firm is in long run equilibrium. Suppose that there is an increase in population in the market served by this firm.
a. (1 point) In the short run we can expect the market price for the good sold in this market to __________increase_____________.

b. (1 point) In the short run we can expect the quantity produced by this firm to ____________increase__________.

c. (1 point) In the short run we can expect the quantity produced by the market to _____________increase_________.

d. (1 point) In the long run if this is a constant cost industry the market price will be (higher, lower, or equal to) the original market price. 

e. (1 point) In the long run given this information, we can expect the number of firms in the industry to (increase, decrease, or remain unchanged). 
2. Consider a constant cost perfectly competitive industry where the market supply and demand curves are given as

Market Demand: P = 40 – (2/5)Q

Market Supply: P = 10 + (1/5)Q

and the representative firm’s total cost curve and marginal cost curve are given as

TC = 25 + 10q + q2
MC = 10 + 2q

Suppose this industry is in long run equilibrium.

a. (1 point) In long run equilibrium what quantity will the representative firm produce?

The firm will produce where MR = MC = ATC. ATC = (25 + 10q + q2 )/q and MC = 10 + 2q. Thus, q = 5. 
b. (1 point) In long run equilibrium what is the market price?

In long run equilibrium S = D. Thus 40 – (2/5)Q = 10 + (1/5)Q or Q = 50. 
c. (1 point) In long run equilibrium how many firms are in the industry?

In the long run the number of firms in the industry can be calculated as Q/q. In this case, Q = 50 and q = 5, so the number of firms in the industry is 10. 
d. (1 point) In long run equilibrium what is the value of total surplus in the market?

The value of total surplus in a perfectly competitive market is the sum of consumer plus producer surplus. In this example, CS = $500 and PS = $250. Total surplus is therefore equal to $750.
3. (1 point) In the class we have talked about how a firm profit maximizes by producing that level of output where MR = MC. In words explain why this is true?

There are three possible relationships between MR and MC:

i) MR is greater than MC: this implies that if you were to produce an additional unit of output that the addition to total revenue would be greater than the addition to total cost-it would increase profits to produce more output if this was the case.

ii) MR is less than MC: this implies that if you were to produce an additional unit of output that the addition to total revenue would be less than the addition to total cost-it would decrease profits to produce more output if this was the case. 

iii) MR is equal to MC: this implies that if you were to produce an additional unit of output that the addition to total revenue would be equal to the addition to total cost. Although you would not make any more profit by producing this additional unit of output, it would tell you that you had captured all the possible profit since otherwise you would either be in option i) or option ii). 
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